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1 What are the basic units of matter in water?

A Atoms

B Electrons
C Ions

D Molecules

2 Which of the following is not a change of state?
A Condensation 4
B Filtration
C Sublimation
D Vaporization

3 Which piece of apparatus can be used to measure accurately 15.6cm’ of solution?

-

A B C D

a4 The diagram below shows a chromatogram obtained using solutions A, B, C and
D on one side and the dyes blue, green and red on the other side.

@ L
® @ ® ®
® (3 e
[T T T Thive green red
A B c D dye dye dye

Which of the solutions A, B, C and D contains green and red dyes only?

5 The mixture which contains elements only is ..

A air.

B brass.

C mineral water,
D seawater.

Chemistry/5070/1/2018
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The structure below represents a solid substance at r.t.p.

-O-O-O-O-O-O-O-
-O-O-O-O-O-©O-
-O-O-O-O-O-O-O-

Which of the following substances is likely to have the structure above?

A Aluminium '

B Calcium

C Lithium

D Magnesium

Elements A and D have atomic numbers 12 and 8 respectively. When A and D
react together, the structure of the resulting compound is ...

24 % + -

) (@

(@O © ) ()

Which of the following common substances contains ethanoic acid?
A Cooking oil

B Dish washing liquid
C Jik
D Vinegar

A

Which one of the following substances will neutralize both dilute hydrochloric acid
and aqueous ammonia solutions?

A Aluminium hydroxide

B Copper (11) hydroxide

C Iron (II) hydroxide

D Magnesium hydroxide

Chemistiy/5070/172016 [Turnover
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10

11

12

13

14

15

Which of the following salts cannot be crystallized from an aqueous solution?
A Barium Chloride

B Magnesium Sulphate
C Silver Chloride
D Sodium Ethanoate

Which one of the following oxides has a pH of 7?
A Calcium oxide

B Hydrogen oxide

C Sodium oxide

D Magnesium oxide

A compound has the empirical formula of CH;0 and a relative molecular mass of
60. What is the molecular formula of this compound?

A CHsO

B C3H402
C C3H404
D CH40;

What mass of methane, CH4, occupies the same volume, measured at r.t.p as 11g
of carbon dioxide?

A 4g ~
B ' 169

C 176g
D 2649

A solution was made by dissolving 14.0g of potassium hydroxide, KOH, to make
50cm’ of solution. What is the concentration of the solution in mol/dm??

A 025
B 028
c 25
D 50

The equation of a chemical reaction is given below.

3.Pas) + BKClO3) — € P20s(s) + d KClegy

The underlined letters a, b, ¢ and d represent numbers used to balance the
equation. Which of the following is correct?

a b C d
A 3 10 6 10
B 3 5 3 5
o 2 3 4 3
D 1 2 2 2

Chemistry/5070/1/2016
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One mole of hydrogen gas and one mole of water have an equal number of ...
A atoms.

B electrons.

C ions.

D molecules.

Hydrogen and chlorine gases react under suitable conditions as shown in the
reversible chemical equation below.

Ha) + Clagy=—= 2HClzy AH = +184kJ)/mol

Which one of the following changes will affect the position of the equilibrium?

A Addition of a catalyst

B Change of volume

C Increase in temperature

D Increase in pressure

A pupil prepared oxygen gas from potassium chlorate by using manganese (Iv)
oxide, MnO;, as a catalyst. Which of the following graphs shows how the mass of
manganese (1V) oxide changed with time during the reaction?

N N
A Mass of B Mass of
MO, MnO,
i : tme
N AN
Mass of C D Mass of
MnO, MnO,
time ~ time ™
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19 Curve 1 shows the volume of carbon dioxide gas given off when 8g of calcium
carbonate lumps react completely with excess dilute hydrochloric acid at 20°C.

N
Volume of
carbon dioxide 1 e
gas/cm’® »
O’Z’
- A
Time/s™

Curve 2 could be produced by using ...

A 2g of powdered calcium carbonate.

B 3g of calcium carbonate lumps.

C a lower temperature.

D a more concentrated solution of the acid.

20 Some bond enthalpy in kj/mol are shown In the table below.
Bond C-H a-a c-a H-H

Bond enthalpy in kJ/mol 413 242 346 436
Find the enthalpy change for the reaction below _

CHagg) + 2Clyq) = CClag) + 2Hz(g) ‘ ‘ NG
A +53.8kJ/mol

B -53.8kJ/mol

C -120kJ/mol
D +120kJ/mol

21  Which statement about a catalyst is correct? It ...
A increases the energy barrier of the reaction.
B lowers the energy barrier of the reaction.
C increases the bond energy of the reaction.
D lowers the bond energy of the reaction.

22  An element E, forms coloured compounds which are commonly used as catalysts.
In which section of the Periodic Table is element E found?
A Alkali metals
B Halogens
o Noble gases
D Transition metals

Chemistey/5070/1/2016
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23  The diagram below shows an outline of the Periodic Table.

24

Y

Which of the following statements is correct?

A The melting point of X is higher than that of Z.

B X and Z can react to form a covalent compound XZ.

G Y reacts with oxygen to form an oxide with the formula, Y30,.
D W reacts with an acid to form a salt and hydrogen gas.

An electrochemical cell was made by dipping a copper rod and a rod of metal P in
dilute sulphuric acid according to the diagram below:

i —
N

Copper Metal P

Dilute sulphuric acid

The bulb did not light up. What was metal P?
A Aluminium

B Copper
C Gold
D Zinc

Dilute copper (II) sulphate solution was electrolyzed using inert electrodes. Find
the quantities for the electrode products if 0.2 moles of electrons were used at
r.t.p.

Cathode Anode
A | 4.8dm’ of hydrogen gas | 1.2dm? of oxygen gas
B | 2.4dm’ of hydrogen gas | 4.8dm® of oxygen gas
C | 2.4g of copper 4.8dm’ of oxygen gas
D | 6.4g of copper * 1.2dm’ of oxygen gas

Chemistry/S070/1/2016 [Turnover
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26 The apparatus below shows the electrolysis of concentrated sodium chloride
solution using carbon electrodes.

Carbo:de Carbon electrode
Concentrated
= S - sodium chloride
i papn G e & R solution

...................

What took place at the cathode?

A Sodium ions were oxidized.
B Sodium ions were reduced.
C Hydrogen ions were reduced.
D Hydrogen ions were oxidized.

27  Which of the following is true about mercury? 1t ...
A is an insulator.
B is an electrolyte.
C _conducts electricity by the movement of ions.
D conducts electricity by movement of electrons.

28  Mild steel is an alloy of two elements. What are these elements?

A Copper and Tin
B Copper and Zinc
C Iron and Tin

D Iron and Carbon

29  In the laboratory, an experiment was set up as shown in the diagram below.

Zinc metal

Dilute hydrochloric acid

Which of the following is the correct equation for the reaction in the above
experiment?

Zn + HCl — ZnCl + H

- 2Zn + HCl - 2ZnCl + H;
Zn + 2HCl - ZnCl; + Hy ~
Zn + HCl - ZnCl; + H,

oO0Ow >
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Which of the following metals forms the least stable nitrate?
A Aluminium

B Copper
C Silver
D Sodium ~

A powdered mixture of metals contains magnesium, copper, iron and zinc. Excess
dilute sulphuric acid is added until no more reaction occurs. What is the residue
left in the reaction vessel?

A Copper

B Iron

C Magnesium
D Zinc

The diagram below shows the preparation of Suiphur dioxide gas.
Dilute hydrochloric acid

—— Sulphur dioxide gas

Which of the following methods can be used to collect Sulphur dioxide gas?
A Downward displacement of water.

B Downward displacement of air.

C Upward displacement of air,

D Upward delivery of the gas.

The source of nitrogen used in the manufacture of ammonia using the Haber
process is ...
A fractional distillation of liquid air.

B the decompasition of organic matter.
C the decomposition of ammonium nitrate.
D the electrolysis of water.

Which of the following fuels is environmental friendly?

A Coal

B Ethanol
C Hydrogen
D Petrol

Chemistry/5070/1/2016 [Turnover
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35

36

37

38

39

Which method of rust prevention does not involve coating the iron or steel

object?

A Alioying

B Electroplating
C Galvanising
D Painting

Which set of polymers comprises natural polymers?
A Protein, fats and nylon.

B Protein, fats and cellulose.

C Protein, cellulose and nylon.

D Nylon, cellulose and fats.

Which type of reaction occurs when glucose is formed from starch?

A Polymerization

B Hydrolysis
(o Fermentation
D Cracking
A compound has the following structure.
. & % B
=0 — —=G—H
> | |

H (ID H
H
Which of the reactions below will this compound undergo?
1. It will react with methanoic acid to form an ester

2. It will decolourise bromine water rapidly
3. It will react with an alkali to form a sait

A 1,2and 3
B 2 and 3 only
C 1 and 2 oniy
D 1 only

Which of the following plastics is thermally stable?
A Poly(ethene)

B Poly(propene)
C Poly(vinylchloride)
D

Poly(tetrafluoroethene)

Chemistry/507071/2048
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40 An organic compound, R, has an empirical formula, CH;O. R gives out carbon
dioxide from marble chips. Which of the following is the structure of compound R?

R

A H—€—0—C—H
H
o

B H—C—G—0—H
H

c H H

H
D H H
N /
;:C
H—0O Yo—H
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